PIRANHA OFFROAD PRODUCTS

‘Piranha Off Road products are not associated in any way with SUZUKI Australia Pty Ltd or any of its related companies’

To Suit SUZUKI SIERRA
1.0L Petrol

“~\ | APPROVED
FOR SELF FIT

TRAY LOCATION

Drill two 6mm holes into guard.
Use M6 counter sunk bolts and nuts
with body washers under the guard

Drill two 6mm holes through the
fire wall, and fasten tray with M6 nuts and bolts.

IPARTS INCLUDED WITH TRAY! FITTING INSTRUCTIONS
1 XTray

2 X M6 Bolts The cradle fits passenger side rear.

2 X M6 Bolts Countersunk

gigAédNL\j/;c/s v The charcoal canister will need to be removed. Drill two 6mm holes
N through the fire wall for the two angle mounts. Use M6 bolts and nuts

1 X Universal Top Mount .

> X J Bolts to fasten the two support braces onto the fire wall. The charcoal

canister will need to be relocated first. Two holes have to be drilled

into the lower guard, and fastened with M6 counter sunk bolts using
nuts and body washers.

(Note: be careful of interior furnishings).

I RECOMMENDED ISOLATOR

DBE140SF
or Ensure, Before closing the bonnet that all items fitted
DBE180-SX have adequate clearance —

FITTING INSTRUCTIONS © Automotive Ignition Systems Pty Ltd 2017 BTSS



